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Problem 18.4

Time {min) time {s) |sucrose % |In (sucrose)
9.62 577.2 96.5| 456954301
59.6 3576 80.3] 4.38578062
93.18] 5590.8 71| 4.26267988
142.9 8574 59.1| 4.07923082
2094 8 17688 32.8] 3.49042852
589.4 353684 11.1] 2.40694511
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Problem 18.7

time (h) time (s) |V (ml)  |Vinsnity) "Vs In[V(infinity) -Vt]
0 0 0.035 2.162 0.771033719
1 3600 0295 1.902 0.642905964
3] 10800 0715 1.482 0.393382527
5] 18000 1.055 1.142 0.132781111
9] 32400 1.505 0.692 -0.368169323
12| 43200 1.725 0.472 -0.750776293
infinity 2197 0
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graph of V(infinity) - V(t) versus time
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